S Aty

Slaghal! b 9dgisTg wawlndt asle AdS
o guulond | O Al gt

1382 ¢ Al 1) g AAIED) datiiall il 68

the properties of

logarithms

SRS B AN PN |

Py s S .




310

Lol DY plsaal 050 U L amgl 15 N1 e coledl B

Csc1v2 (2 Sec™!(-2) (1
sec (Csc™'v?2) (4 Csc(—v2) (3
sec (ZSin“l %) (5

.Ogmgﬂ*aw%w/ZWSecﬂl(secm)mm QTJFOAX' (6
Jz| > 1 Jﬁ sec (Sec 'z) =1 ol PR (7
/2 <z <T/2 « z+0 &> Csc™'(cscz) =1 C.)T(_gb&aﬁ (8
Jz] > 1 K esc (Csc™'z) == O L Ry (9

el DI YT &atl as sl (17 L 105e ppledl B

g(a:) — Sec”!(cot z) (11 f(z) = Csc™!(In z°) (10

g(a;) — r2Sec'z? (13 f(z) = Sec™ ' (4z + 2) (12

g(z) = Sz‘;i\f (15 f(z) = Csi;;gii D (14

g(x) = Sec“l(\/l i :1:2) (17 f(z) = Sec”'(z*+9) (16
U g8 5 Wiyl 20 J18 e gl

Sec' j+rt=z—1 (19 Sec™'z+ Csc™'y =7 (18

Sec !(lny)+In (z+1)=1 (20



311

AAEN Bl o Sas

L e R e S I N A i m M i el e e e o P e S e e 1 S e e o e e, e, T e

%)

5 (2

C{)SM(
sin ((L‘m:“‘““1 —g) (4
sin (Cmt”lé) (6

sin (Csc™'4) (8

GSCM]““—%“ (10

V3

e e e A SRS i e e o

sin (Tan™'0)

Sec™ ' (—2)

ol YL plasnal O3 b b odasl (10 1T g ledl

(7

(9

valaaddt Al SN Zzaddl s sl 20 I 11 e cpsladdl

y = Sin~'(3z) (12

y=1In (Sin '(e7%)) (14

Y = Tan“l(}-) (16

L

y=Tan '(In z) (18

Y = C{}tml(sec ) (20

y = Tan ! (z — 4)°
y = z2Cos (1 — z)
T4+ 1
Yy = C(}S”I(x _;_ )
T

y = In (Tan™'z)
y = Csc™'(In z)

1

Jzl 21 058 Leke %560”1$m0ﬂ8“1(“) ol e o

X
1

Hzl 21 088 Liks aC’Scwlmeinmi(“) 5] S A

d

— Nec”

dx

(d
dr

X
1

M o

rva? — 1 ! JLF o

—1

— Csc g =

(11



3G g sl

312

15, Sl M domgl 40 J1 25 e poledl (B

x” (26
[.’138 1 dx

VI
Y= __dx (28
[\/1-*:1:3
2
/ et __dx (30
1 — tan’z
/ cos (2/2) 4, (32
1+ sin®(xz/2)
2 9dx
(34
/{} V8 — x2

3 dx
(36
[-3 V12 — x?

dx
= (38
/ sin‘zVv1 — cot

-1
fcot mda: (40

1+ z?

£
_r 2
/:r:4+1dm (25

6-$
d 2
/ 4 + e2% z (29
S@sz d{E (3 1
\/f + tan‘x
csc x cotx
fi+9csc 21 dz (33

du
R (35
/u\/9u2 — 100

. ~1 9
/:r:Sm T iz (37

v1— x?
V3

f :Ed:l’»4 (39
o 9+



- i . ) g ' '
- i |... I i .
: W ' L] ! ' .
" . .—-. . = ‘.— ’
‘ . * .
L 3 _ s ¢
" § .. b ——
_ My - m
. . .
. _. : , . i . .
. .q. |
] . .‘ = N -

ons

1

-

o

ct

Lol olighsl el

un
Lt

ckK
L‘J‘J:

li

erbo
5

Hyp

€

L4

P

L'

i

o

b o olos 5 Sl

L

”»

&

o

Y

At

tr‘




314

RVLLSA TR PPA

e,
A 1)
.':,:' '
e

&

o

%

%

.
sinh @

N

F
2
STt
L
L

% . : .”.. ....:.,.". ...“.”
e ﬁﬁ ;

.....“_..“.u...._

. e , oty ol o T A R RS o 3 e 2 1 L S e 1 A R el I | AN L L M A AT A I .x.nm"
b oA (YIRS, pREE R S T i "m B R L S e e R g T i1 Ly 1y A T vy,
..__.m..m..."u.,.... et s e 20 200 R e g A W v ' e Hty
=t Al i i i

.x“uﬁ..n_.v.. Kﬁw.w
ke 3

ity

ﬁﬁﬁ.
w. \mmd.w..w,.w o el ".
P g

- ..wﬂmw.m...ﬁ...,.."..._w# i
TR
i I

B R o R e e S R

&
g
&
S
s
i
g
s

%
b

; .
13&%

;
5
R g cosh

et AT L e SRS

AR
sin

4

i

I

=

nqy..n o
k] :
2 g o .,.,,.....W
.. ; g
T WA oo b I Rl .,.m.....n
b = pout A A S A ...?.".ur,."..........r?.r.nu._f.r.. R e e T
| R -t L e A B : 2 LT S e .xvﬁn"aaﬂryﬁ.ﬂ.&%uﬁ&.w..xéxax#i&ﬁvﬁ“u&d?i..u.o.....ﬁn?,...? s TﬂMmN i
s AT ] - HELAR T ok TE o Ty b= I !
? b ! 1 HR R R, fhd ] o] e Y i
ﬂ%}ﬁwﬁ%.rﬁ SR TH FIL B E LT LA PR
: ; R i bl I

s
.
Vi, k:
i,

; 3
SR s .....

e
5. e
3
=
%

%}ﬁé
:

:

g

HEEE A

- i ..
o, e

B
e
%
i
%
%

e ” M

oo

v
%‘%
E-
I 3 e A e

inh (z) (s



315
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